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Warm Up
Review

Simple Trinomial Factoring

- Product Sum

- Factor whena =1

[ 2ame Period:
Sum & Product Puzzle: Set 4
ch diagram below, write the twomumb 1h sides of the "X"
Th 1 are multiplied together to ge Hh umb of the "X," but added

together to get the bottom number Hh X

X X
XX
KK

><><><
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__X__=¢C
Remember the rule? b
Kuta Software - Intinite Algebra 1 Name.
Factoring ‘Trinomials (a = 1) Date, Period
Factor each completely.
1) b2 =8h+7 2) #’ = 11n+10
3) m* +m—90 4 0t +an—12
5) n*=10n+9 6) b* +16b +64
T m® +2m—24 8) X’ —4x+24
9) k*— 13k +40 10) a® + 1la+ 18
1wt —n-36 12) n =511 6
Kuta Soltware - Infinite Algebra 1 Name.
Factoring Trinomials (a = 1) Date. Period,
Factor each completely.
1) B =8h+7 2) ¥ =11n+10
B+7)E+1) (n=10)n—1)
3) m?+m—90 4) nt+4n-12
(m—9)(m + 10) (n—2)n+6)
5) n—10n+9 6) b* 1 16D + 64
(n—1)n-9) (b +8)*
7 m® +2m—24 8) x’—4v+24
(m+6)(m—4) Not factorable
9) k* = 13k + 40 10) a* + lla+18
(k- 5)k—8) (a+2)a+9)
1) n*—n—56 12) i —5n+6
(n+7)n-8) (n=2)(n-3)
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Tann on the video

Review - Factoring

- perfect squares

- difference of squares

- grouping

- Complex Trinomials -Decomposition

Video Starts here




3U - C3 - day 1 - Factoring Il - Online - ANS.notebook

March 30, 2020

Worked Example

Perfect Squares a’-2ab+b’=(a-b)(a-b)

a’+2ab+b’*=(a+b)(a+b)

pause the video and try this one

Difference of Squares
Worked Example

a’-b’=(a+b)(a-b)

x£ = (X3>(x3>

pause the video and try these

16x* - 81

(4 + 9(4°()9)

(x4 2)(2x+3)(2x3)

l

> 2)&%"3’){2 Xg—-l/j Z)

16 - x*

(4+x)(4-x)
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Grouping
Worked Example

x +3x +2x+6

= (x3) (x*+2)

pause the video and try these

= x (x+3) +.z(><+3>

ac + bc - ad - bd Yy +4y* -4y - 16

Grouping

Worked Example
x3+3x>+2x+6

pause the video and try these

ac + bc - ad - bd Yy + 4y -4y - 16
=c(a+h) - 0{(0‘”-’) 5 (y+4)- Ll<\3+‘l)

‘("“*L’) (c- d> ‘(3+L')£3_;2
= (y+4)(y+ 2 )y

_2)
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Complex Trinomials

Decompostion and Grouping

Worked Example
L -, - -
10x*-x-3 = JOX *‘b:(J ‘6>( 3J
-30 \
~¢c\'5 = 5% (,2x+\)-3(.2x+l>

- ::(2><+l>(5'><—3>

Pause the video and try these

7x°-31x-20 2xX°+17x+21

Complex Trinomials

Decompostion and Grouping

Worked Example
10x°-x - 3
Pause the video and try these

7x*-31x-20 2X°+17x+21

-1Y0 Y42
L)><3 5 3><Lf
=31 I3

B I P B -20

:(A—S>(:,Lx+4> :(2K+3>(><1—1>

,ZXL +3><+/'7’X +-ZI

:qx(x-5> +9(><—5) = x(1x+3>+7(2x+ 3)
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Combining Strategies
Worked Example

4(2 - H9- 25
\/}\ ) /r
| 2 (2"*>f9~ 5"
- (a(=)+ 5)(a(2

@2-4x+4-9y2
(x=2(x-2) - 94"
/x—?.) '(33)

Try On Your Own

Factor by Grouping

1) © +3x" +2x+6

3) 2n—6m+5n" —15mn

2) ©+x"+x+1

4) 5n* +2n—6m—15mn




3U - C3 - day 1 - Factoring Il - Online - ANS.notebook March 30, 2020

Try On Your Own - Answers

Factor by Grouping

1) x°+3x°+2x+6 2) X +x +x+l

(+3) X3 ) (4 (41

3) 2n—6m+5n° —15mn 4) 5n° +2n—6m—15mn
(n-2 (A4S A (En+a>(n-2mD)

Try On Your Own - Full Solutions

Factor by Grouping

1) © +3x" +2x+6 ) Pttt
L v o L 0 /
) G2 = | (¢~ |
AT B o G U

(/><+/5>Cf>< +/;i> (4 (o \\

3) 2n—6m+5n" —15mn 4) 5n* +2n—6m—15mn
A 3O

Q(n-232m + Sn /\_3”\ . +6ﬁ\
(n-3 N\S(f—l—f-sf\\ N (é\/\/j\/’%) m(RET2T

(Sn+=2D //’\—3/?\\
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Try On Your Own

Factor by Grouping and then Difference of Squares
Difference of Squares
5) ©+x—-x-1 6) 4(2"‘3)2 - 81

Perfect Square and then Difference of Squares

7) (x’—6x+9)—4y’

Try On Your Own - Answers

March 30, 2020

Factor by Grouping and then Difference of Squares

Difference of Squares

5) ¥ +x—x-1 6) 4(2"‘8)2 - 81
— X — ' N
= (x+1) {X‘ /\ = (ga+2)(2a->

Perfect Square and then Difference of Squares

7) (' -6x+9)-4y° = (f)ué?j‘g\(’)(—&j*%v
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Try On Your Own - Solutions

Factor by Grouping and then Difference of Squares
Difference of Squares
5) 4t —x-1 6) 4(2+a)2 - 81
%Q<'X+ D*J(ﬂ@‘/) a 2 2
(+ 1) ) ?;élg < %g‘
Y+ DO e
(?<+ Y @Q@ﬁyg@@ﬁ)
X413 6 1) (4+2a+T) (4424 D

(gat12)(2a-S) D

Perfect Square and then Difference of Squares
7) (.1c2—6.1c+9}—4}-'2
(xz — 6x +§—4y2
2 2
(x-3) - 4y
2 2
(x-23)" = (@)

( oy ay)(d-2y)
<0<4QJ\’5}(3<*QJ’33

Try On Your Own
Factor by Grouping

2 , 2
g) ' -133%436 %) 17+5%+6y

10) 2x° —xy — 37"
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Try On Your Own - Answers
Factor by Grouping

8) v*-131+36 B )?L fszg +C 31
:j‘—l —L{jz,qjl*i’jé N +3X\Aj(}<+2>
::J"‘(b‘—h\)“r(nl—@ = x(r+2y) 22y 1Yy

_ Uy ﬂ(\jbco :(X+ZO>(K—I*SJ>
= (3+L)(3‘L>(:J+3>(\3'3>
10) 2x* —xy —3y°

2 x™ + 20 —3%’3\‘3L
= 2x(x+y) -3y (*3)
= (x+y )(2%-3y)

Extra Practise

1. See Next Page
2.TextBook Pg. 102 # 4-7bdf, 10

11
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Extra Practice

The First Rule ...

1) 2x* +6x° +4x°

Two Variables...

E) 2x? +5xp+ 3y1

)] x1—4y1—4x+4
Factor by Grouping
7 y4+y1—2{}

Factor the Difference of Squares

%) 93+m) —4(m-2)*

Greatest Common Factor ... then Factor

Factor the Perfect Square ... then Factor the Difference of Squares

2) 56y +10xh? 1507

4 2 -Tg-4y7

6) (x*+12x+36)-25x"

8) ' —15y*-16

The First Rule ...
1) 2x*+6x° +4x°

= 2% (w3 2)
= 253 (x4 2)ox+ 1D

Two Variables...

2 2
3) 2x” +5xy+3y a

o 2 By
:Q,X_/_Sij-fzxj +gj s
= 9<(Q9<+Sj§+ j (%ng}

=( Q%\%\D (/><+g>

Extra Practice - Solutions

Greatest Common Factor ... then Factor

2) sxy?+10xy -1507

- 5f><jlﬁ9<l+ Qx—2)
= 59@& ( +2)x—1)

4 2x -To-43°
) xy—4y 4

:Q%Q—8x3+1o<j—452 B A k
- - 49+ y(-49)
= (A (X )
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Factor the Perfect Square ... then Factor the Difference of Squares

5) X -4y’ —4x+4 6) (x?+12x+36)-25x"

e S ]
= (x- b :((9<+@+5%((’X*®’§i>
= ( (D) +Q§><(®<—.’2\> ‘Q\D =(Sx g Q(-S%w@

= (OHQJ‘Q)(’X’/Qj ‘Q>

Factor by Grouping

7 yey-20 -4 8) ¥ -15)°-16
&y
=y A N4 4 Y- 21X |
=y +4j N 4
2> ~(7'1-‘I) 3
’y<3 ) ), j‘a_glj‘& 3

= (jz‘f'ﬂ)(\)\t l) q( 4_%‘)*\( 4_.8])

= (¢ + + - =3y J

= (j ‘\\)(j \)(j \\ ) <j4.%D(j4* [>

(g Dy )
(5 Nyl -3)@4* )

Factor the Difference of Squares
9y 9(3+m) —4(m—2)°
2 2
= SQ@*WS -2 (!V\’Q> N
- (3 (3*'“3} - < Q(W\’Q}}
- < 2 (24w Q(W\’Q\)< 3 <3+rv§) -2 m- Q\»

= ((g43m+2m 4)( ﬁ+3m~2m*4>

- <5M+§>< M+ \%>

13



3U - C3 - day 1 - Factoring Il - Online - ANS.notebook

March 30, 2020

14



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

